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Q1) Attempt any two of the following : [2×5=10]

a) What is meant by entrepreneur? Discuss the qualities of entrepreneur.

b) Define partnership what is difference between partnership and company.

c) What is double - entry system of book keeping? Discuss its advantages.

Q2) Attempt any two of the following : [2×5=10]

a) What do you mean by project report? Discuss the main characteristics of project report.

b) Explain the factors which are considered is the selection of product.

c) Define the meaning of intellectual property. Discuss the copyrights.

Q3) Attempt any two of the following : [2×5=10]

a) What are the functions of management. Explain it.

b) Discuss the Functional organisation. What are the advantages and disadvantages.

c) What are the functions of leadership? Discuss.

Q4) Attempt any two of the following : [2×5=10]

a) Explain man-power planning and its characteristics.

b) What is A.B.C. Analysis? Explain it.

c) Discuss the professional ethics what is its need.

Q5) Write short notes on any four of the following : [4×2½=10]

a) Income tax

b) Balance sheet

c) Sales promotion

d) Selection of Man - Power

e) Motivation

f) G.S.T.
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NOTES :

i) Attempt all questions. All questions carry equal marks.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : i) g^r àíZm| Ho$ CÎma Xr{OE& g^r àíZm| Ho$ A§H$ g‘mZ h¡&

ii) narjm{W©`m§o H$mo gbmh Xr OmVr h¡ {H$ do àíZ-nÌ Ho$ XmoZm§o AZwdmXmo§ _| gm§»`H$s` Am±H$‹S>m§o H$m {deof ê$n go {_bmZ H$a b§o& `{X {hÝXr AZwdmX Ho$
{H$gr àíZ _| {H$gr àH$ma H$s {^ÞVm h¡, Vmo narjmWu A§J«oOr AZwdmX Ho$ AZwgma àíZ H$m CÎma X§o&

iii) narjm{W©`m| Ûmam noµOa Am¡a _mo~mBb \$moZ H$m à`moJ AZw_Ý` Zht h¡&

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo Ho$ CÎma Xr{OE : [2×5=10]

A) CÚ‘r H$m ³¶m AW© h¡? CÚ‘r Ho$ JwUm| H$m C„oI H$s{OE&

~) gmPoXmar H$s n[a^mfm Xr{OE& gmPoXmar Am¡a H$ånZr ‘| ³¶m AÝVa h¡?

g) nwñVnmbZ Ho$ Xmoham boIm àUmbr H$m ³¶m AW© h¡? BgHo$ bm^mo H$m C„oI H$s{OE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo Ho$ CÎma Xr{OE : [2×5=10]

A) n[a¶moOZm à{VdoXZ go Amn ³¶m g‘PVo h¡? n[a¶moOZm à{VdoXZ H$s ‘w»¶ {deofVmAm| H$m C„oI H$s{OE&

~) CËnmX Ho$ MwZmd ‘| H$m¡Z go KQ>H$ h¡ {OZH$mo Ü¶mZ ‘| aIm OmVm h¡? BgH$m dU©Z H$s{OE&

g) ~m¡{ÕH$ gånXm H$m AW© ~VmB¶o& à{V{bß¶m{YH$ma (H$m°nr amBQ>) H$m C„oI H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo Ho$ CÎma Xr{OE : [2×5=10]

A) à~ÝY Ho$ ³¶m H$m¶© h¡? BgH$m dU©Z H$s{OE&

~) {H«$¶mË‘H$ g§JR>Z H$m C„oI H$s{OE& BgHo$ ³¶m bm^ Am¡a hm{Z¶m± h¡?

g) ZoV¥Ëd Ho$ ³¶m H$m¶© h¡? MMm© H$s{OE&

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo Ho$ CÎma Xr{OE : [2×5=10]

A) ‘mZde³Vr {Z¶moOZ H$m dU©Z H$s{OE Am¡a {deofVmE± ~VmB¶o&

~) E.~r.gr. {díbofU ³¶m h¡? BgH$m C„oI H$s{OE&

g) noeo H$s AmMmaZr{V H$m C„oI H$s{OE& BgH$s ³¶m Amdí¶H$Vm hmoVr h¡?

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Mma na bKw {Q>ßnUr {b{IE : [4×2½=10]

A) Am¶H$a

~) Am{W©H$ {MÆ>m

g) {dH«$¶ g§dÕ©Z

X) ‘mZde³Vr H$m M¶Z

¶) A{^àoaUm

a) Or.Eg.Q>r.
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